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Cetka(1l,1)




CTpanvua 2 n3 24

LCeTKa (1,2)




Cetka (1, 3) / Ctpanvua 3 u3 24




LCeTKa (1,4) / CTpanuvua 4 n3 24



CETKa(le)
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CTpanuvua 6 13 24

j\)CeTKa(Z, 2)




Cetka (2, 3)

TpaHuua 7 us 24




j\)CeTKa (2,4) CTpanuua 8 n3 24



Cetka(3,1)

CTpaHuua 9 u3 24
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LCeTKa(3,3)

Crpanvua 11 u3 24
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CeTKa(4’1)

Crpanuua 13 13 24
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j\)CeTKa (4,4) / / Crpanvua 16 us 24



Ctpanvua 17 us 24

Cetka(5,1)



Ctpanvua 18 us 24

j\)CeTKa(S,Z)







LCeTKa (5,4) CtpaHuua 20 13 24



Cetka(6,1) CtpaHuua 21 13 24




LCeTKa(&Z)

Ctpanvua 22 us 24




j\)CeTKa(6,3)

Ctpanvua 23 us 24




j\)CeTKa (6,4) CtpaHuua 24 n3 24



